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:-‘ Measure of Center Tendency

= Tendency
= Typical
= Average?
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o/ ?
The )Health Club

Statsville's Premier Spa

Health club pride to have class for everybody
Average age in each class?

-&Jf—

srrent attendees of the Power Workout class:

st How do we work out the average age of the Power Workout class?

:-‘ Average : Mean (Commonly used)

= Mean: sum up all the numbers and divide it
by number of they are
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3 Find out Mean and say about it

= Ageinclass:
= 192020202122181817 19 20
= Math's marks if a class

= 39, 33, 33, 36, 31, 40, 35, 34, 38, 31, 39, 32, 30,
30
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:-| Find out Mean

Have a go at calculating the mean age of the Power Workout
class? Here are their ages.

| Age | 19 | 20 | 21 |
| Frequency |1 | 3 |1 | " = zﬂ
Zf
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5 Mean

.
“ue, Vit Statisties |

i
i

“-:-:-: Mean The mean is one of
E,‘ the most fren[uent].y
PE = used statistics. [t
can be represented
Y, !
p= * with the syml:ol [TH
il
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!-| New Customer to Health club

= Tuesday Evening

el
- —
Wy
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_ Class Mean age
Class 1: 17
Class 2: 25
Class 3: 38

Which class new customer
should attend??

5 Class 3?

= What went wrong?? .,

i

(T ended up in the Keng Fu
5 class with lots of young uns end |

o ancnt masers. My bck
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:| Let’s try see what happened?

Sketch the histograms for the Kung Fu and Power Workout classes. (If you need a refresher on
histograms, flip back to Chapter 1.) How do the shapes of the distributions compare? Why was
Clive sent to the wrong class?

Power Workout Classmate Ages

CEEECEENE] g Age of Power Workout classmates
[ [1 1 | H
Kung Fu Classmate Ages g 1
[Age [19 Jzo0 Ja1[ras a7 | . ”D T o & age
[Frequeney [3 J6 [3 [t 1 ] )
T Age of Kung Fu classmates
R
g
0
o 1920 21 2 145 146 147 148 agd
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3 Outliers

= Qutliers: extreme values
= Check Effect of outlier
= What should be done?

= Outlier just pulled the mean to higher?

= Data is skewed
= Skewed to right

Age of Kung Fu classmates

>
§° o the left or vight
é_ 4
2
o
EEEE T EEEES
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.
~ne ) Yital Statisties

e, !
—_— Outlier
i extreme high or lew vabe

that stands out from the
vesk of the data

Kung Fu Classmate Ages

[l T[]
[Py [+ o [ 11|

V%L Statisties 1
'—-_..; Skewed Data

When cuthiers "pull” the data
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3 Symmetric Data :-‘ Question to Think (HW)

= Ideal = What should be possible solution for

Symmetric data p skewed data?

3 = Do you think mean can be highest value of
given set of data ever?

= How?
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The median
is always in
- the middle. -
Average: Median It's the Average: Median
middle value,
= When mean is misleading because of outliers = What is median of Kunfu class??
= Typical value: by taking middle value Kung Fu Classmate Ages
[ree [ [0]
= Example [Frequency [ [e [3 v [1 ]
19 19 20 20 20 2 2 100 102
49 20 20 20 24 21 100 102
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3 Median :-| Question
How to find the median in three steps: Consider the number of students in different classes:
Class/Standar # of Students
1. Line your numbers up in order, from smallest to largest. 1 15 What is the average number of
2 18 students per class?
Z. If you have an odd number of values, the median is the one 3 16
in the middle. If you have n numbers, the widdle number is
at position (n+1)/ Z. 4 14
5 15
3. If you have an even number of values, get the median by 6 15
adding the two widdle ones fogether and dividing by 2. 7 12
You can find the midpoint by calculating (n+ 1) / Z. The
1wo widdle numbers are on either side of this point. g ;g
10 90
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So Business of Thﬂlth Club

iL * Health CIUb now Statsville's Premier Sp:

B ; L . .
l\mg:ﬂ“’]‘fﬁk e ot = Plot everything = Business is booming all are getting class of
say e nmis:fv : ‘umr
I, u‘wﬁs}ﬂ?’f’ﬁgﬁ u'.}:ndm, YOou can same age
w : = Compute = S0 Mean and Median work
everything you
L can
= Come with
[Vaes [ 4 [6 8 [8 10 [11 |12 .
e N e E observation
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o/ #
3 New Customer  Th€ eStaal!mpngySE :-‘ Can anything be wrong??<. 9

[ The swimming X
m Class of swimming [ ieamion | = Class of swimming

1 Signmeupright now. ) O ¢

mean :17 — Here parents come with their very young
median : 17 children to teach them how to swim.
= Good match e )
B gt e e
The):(Eaﬂh CIUb b @ ( :/::;(l"hr. )u "
Swimming Class L 5Y
| Median age: 17 [f\‘ e
| Dl
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3 Fix it !-| What went wrong?

) L = With Mean and Median
= Fix the ages in right category to have .
mean and median as 17 = Even numbers (mean =median =17)

ge 1 2 3 m 2 3 11122223 3{31 31 32 32 32 32 33 33 33

Frequency |3 2

= Odd numbers

111222223_”3‘“31 31 32 32 32 32 33 33 33

[3 E) 1112222235,_1;313132323232333333

o
o
®2

e [ TR ED = Mean and Median : Misleading
Frequency |3 [ : ! [ ] What should we do for data like this?
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3 What went wrong? :-‘ What to do?

= Why both mean and median fails?

[ Age [v ]2 [3[3 [52 [3 |
[Frequency [5 [4 [2 |2 ‘j B = If one age has to be represent class,
These tuo valts are bhe mast what would be that?
Popular, so they ave both modes
) = If you can choose two age to represent
o e . e class?
4 | The mean and
3‘ s median ave heve
g .
.
° 1 2 3 4 3 32 33 34 age
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3 Average?? :-‘ Average: Mode
= Mode: Most popular value or value with high

= Here is another average problem? frequency
= liking of 10 people is recordedas = There can be more than one Mode, for two
: 3. = . 1 " ' i mode: Bimodal
e i S S EE e ; i
e =D == T W W W = It more like to tell trends in data

= What is average of this (center = It works for categorical data as well

tendency) )
= Add them, or put in order = ={}=$é) =
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-
=, YifaL Statistics
{

5 e | - The)ealth Club
MOde gﬁﬁﬁrﬁa}lﬁ SOIUtlon to Statsville's Premier Spa
The{alt (b

swimming Class
Median-age:17
Mode ages: 2 and 32

Three steps for finding the mode: )
= NO more issues

1. Find all the distinct categories or values in your set of data.

Z. Write down the frequency of each value or category.

3. Pick out the onels) with the highest frequency to get the mode.
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o/ ?

The Wealth Club

A\ Statsville's Premier Spa

Congratulations!

Your effoets 2t the Health Club are proving i
crmand for classes i bigh

over par

E

it inchudes | ot |
Cotee | TheF{eathClub
the way. |
Swimming Class
==Seg | Medianage: 17

) — e
4 | TR Col
S Suimming Giass

| madiamage:12
wedeages 2 and 32
[N
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Find out the mode of following data set

[vatues 2 3 [« s e [7 s |
[Frequeny Ta Jo Ja [a |5 [z v |1 ]

[category  [Blue [Red [Green [Pink | vellow |
[Frequency 4[5 [ [1 [3 |
[ values T2 [z [+ [s ]

[Frequensy |2 [3 [3 [3

5 ]

When do you think the mode is most useful?

When is the mode least useful?
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Conclude: Home Work

3 Submit it tomorrow on one page

Maan ()

iy symmetrc

e aai
and shows just e ane irend.
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:-‘ Scenario, What’s going on?

= In a company staff has issue with there salary,
most of them are getting $500 per week, and
CEO gets $50,000 per week

= All the Staff ask for raise in salary saying
= Staff: Average salary is $2500 we are less paid
= Manager: Average salary is $10,000 and | get
$4000, | want raise
= CEO you all are wrong average salary is
$500, Now go back to work
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